Polar Coordinates

Representing Points Using Polar Coordinates (7, 0):

To define polar coordinates in a plane, we first an origin O (called the pole)
and an initial ray from O.

-0 represents a directed angle rotated from the initial ray.

- presents a directed distance from O.




Plot the following points whose polar coordinates are
given:
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Rewrite each of the following points using four different
sets of polar coordinates.
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Conversion Equations for Polar and Rectangular

Coordinates:
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Convert the point whose polar coordinates are (5, ) into

rectangular coordinates.
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Convert the point whose rectangular coordinates are

(-2, - 5T3) into polar coordinates.
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Convert the equation 2z + 3y = 5 into a polar equation
and then graph the equation on your calculator.

2riose + 3rsing =5
r[ Rcose +35mg] =4

Convert the equation y = z? into a polar equation and then
graph the equation on your calculator.
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Convert the equation » = 2 cos 6 into a rectangular
equation.
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Convert the equation r = cos 0 + 2sin 6 into a rectangular
equation.
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Polar Equations and Their Graphs

What is the graph of an equation?
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What does the graph of the polar equation r = 3 look like?
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